ERRARDSRBZMTES (TR 28 FEFE 1) BERE

T 284 7 B 22 B(%)
10 B~12 B
EIRALIL BFELEZEZEIE)

(Ta735 4]

TH =

2 B ¥

3 ZFE(BRORTTa—)L]

[ =]
(1) ¥k 27 FESBERE
(5569 ~11:00]
(2) Fpl 27 FERE(RAH)RERVIEINZ
(354 11:00~11:35]
(3) BEINKYEEHZRODMEIZONT
(104> 11:35~11:45]
(4) ZDOMOMERIERSE
(ZEBHERICRE I DREHINR DI EF)
(1549 11:45~12:00]

4 A=

(&R
BEH-1 Rk 27 FEEERE
BH1-2 FERECEAITIHEEH
BR2-1 TR 2 EERERARROTEINE
BER2-2 YR 27T FEREREE
EH3 EE OV ERZROIMEIZDLNT



cERRERRUIABIITZE &8

e
* KT CERGERERT  AEt
B X EEAEERERRAKEALEIEEE
=A LT HABAE NSRBI EE SEES
EETAE
i BRLHSS/THE RENERLE
A (R TAZH S38)
i e T
B3 &= (RN 2k s FIAE)
5 = EETERRAT IRES
x5 (REFEILEAL BEE)
WIRBERE
BRXaM T HLS HARBREEL
AT =F8h (RERBRES)
L AASHEAKEAATNITEAS 28
e (A%)
. A LR  BES
B RX (RERERES)

(BR+FIE- 2HRE)

cERRRRBIAABXIN T2FHREE

K % B A
x B A I xR
mw £ & *E I EREF R &R
I A M 8 EHE&
B 93X TEERBHIL—TRK
FmE O E = EBTILV—TR
5 &K KA LI —T &
B AN X B R I —TiRiE) -2 —
5 #E R ¥ TERBETIN—TF J—F—




